BID 25-0044-4 Annual Contract to Provide Desktop Printers, Lease with Service for the CCSO/Detention Center BID DUE: MAY 19, 2025 @ 2PM					Xerox Sa	15	
Item No.	Band	Volume	Brand/Manufacturer Name and Model	Estimated Qty.	Monthly Lease Rate Per Printer	Total Monthly Lease Rate Per Band	Total Number of Copies Included in Rate
1	А	28 ppm volume	Brother HL-L5210	40	\$7.20	\$ 288.00	0
2	В	45 ppm, volume	Brother HL-L8360	20	\$12.62	\$ 252.40	0
3	С	28 ppm volume	Xerox C415 DN	10	\$29.69	\$ 296.90	0
4	D	26 ppm volume	Xerox C415 DN, w/ add/l 550 sheet tray.	5	\$32.79	\$ 163.95	0
			Acknowledgement of Addendums 1-2		Yes	Yes	
			Total Monthly Leas		\$ 1,001.25		
			Total Annual Leas	e Rate for ALL		\$ 12,015.00	
	*	Estimated qu	antities referenced are for bid purposes only*				
	Copies		Rate Per Copy				

Copies	Rate Per Copy
Black & White	0.014*
Color	0.112*

*If your pricing structure is different than above, describe below, and attach pricing sheet as it relates to this solicitation.

Please note that the rates outlined above are based on a 60-month FMV lease. Alternative lease structures are available upon request. The rate per copy is as follows: Black & White – \$0.014, Color – \$0.112. Cell editing is restricted in the current file, so rates are noted here for clarity.

BID 25-0044-4 Annual Contract to Provide Desktop Printers, Lease with Service for the CCSO/Detention Center BID DUE: MAY 19, 2025 @ 2PM						-	Office Solu h, GA	tions
Item No.	Band	Volume	Brand/Manufacturer Name and Model	Estimated Qty.	Monthly Lease Rate Per Printer	Lease	l Monthly e Rate Per Band	Total Number of Copies Included in Rate
1	А	28 ppm volume	KY PA3500cx	40	\$0	\$	-	Unlimited
2	В	45 ppm, volume	KY PA4500x	20	\$0	\$	-	Unlimited
3	С	28 ppm volume	KY MA3500cifx	10	\$70.13	\$	701.30	Unlimited
4	D	26 ppm volume	KY MA3500cifx	5	\$70.13	\$	350.65	Unlimited
			Acknowledgement of Addendums 1-2		Yes		Yes	
			Total Monthly Leas	e Rate for ALL		\$	1,051.95	
			Total Annual Leas	o Doto for ALI		\$	12,623.40	

Estimated quantities referenced are for old purposes only						
Copies	Rate Per Copy					
Black & White	0.0084					
Color	0.0575					

*If your pricing structure is different than above, describe below, and attach pricing sheet as it relates to this solicitation.

See separate pricing attachment as instructed by Jean Fleming. It should also be noted that the PA3500cx and MA3500cifx are both 35 ppm devices. They represent our closest device that is at least 28/26 ppm.

BID 25-0044-4 Annual Contract to Provide Desktop Printers, Lease with Service for the CCSO/Detention Center BID DUE; MAY 19, 2025 @ 2PM					**Digital Office Equipment Statesboro, GA			ent	
Item No.	Band	Volume	Brand/Manufacturer Name and Model	Estimated Qty.	1	thly Lease Per Printer		al Monthly se Rate Per Band	Total Number of Copies Included in Rate
1	А	28 ppm volume	Kyocera PA4000cx	40	\$	14.43	\$	577.20	0
		45 ppm,							
2	В	volume	Kyocera PA4500x	20	\$	10.18	\$	203.60	0
3	С	28 ppm volume	Kyocera MA4000cifx	10	\$	21.71	\$	217.10	0
4	D	26 ppm volume	Kyocera MA4000cifx	5	\$	21.71	\$	108.55	0
			Acknowledgement of Addendums 1-2			Yes		Yes	
·I	Total Monthly Lease Rate for ALL \$ 1,106.45								
	Total Annual Lease Rate for ALL \$ 13,277.40								
	*	Estimated qu	antities referenced are for bid purposes only*						

Copies	Rate Per Copy
Black & White	\$0.0115
Color	\$0.059

*If your pricing structure is different than above, describe below, and attach pricing sheet as it relates to this solicitation.

***Please note that our proposed Black & White rate per copy is \$.0115 and our Color rate per copy is \$.059. The cells in the spreadsheet above are showing \$.01 for black and \$.06 for color. This is due to how many decimal places the cell is formated to show and it will not let me adjust it. Also the proposed model for Band A is the Kyocera PA4000cx. The model does not show fully in the cell provided due to the length of the model name.

Provide I wit CCSC	44-4 Annual Desktop Prin th Service fo D/Detention MAY 19, 20	ters, Lease r the Center			Robert J Young Company, LLC Nashville, TN			LLC	
Item No.	Band	Volume	Brand/Manufacturer Name and Model	Estimated Qty.		ly Lease r Printer		tal Monthly se Rate Per Band	Total Number of Copies Included in Rate
		28 ppm							300 B/W &
1	А	volume	Brother HL-L9310CDW	40	\$	40.58	\$	1,623.20	500 Color
2	В	45 ppm, volume	Brother HL-L6415DWT	20	\$	35.39	\$	707.80	2,500 B/W
3	С	28 ppm volume	Brother MFC-L9570CDW	10	\$	44.17	\$	441.70	700 B/W & 400 Color
4	D	26 ppm volume	Brother MFC-L9570CDW with additional LT-330CL 250-Sheet Capacity Paper Tray	5	\$	48.45	\$	242.25	700 B/W & 400 Color
			Acknowledgement of Addendums 1-2		Y	es		Yes	
			Total Monthly Leas	e Rate for ALL			\$	3,014.95	
			Total Annual Lease	Rate for ALL			\$	36,179.40	

Estimated quantities referenced are for bid purposes only

Copies	Rate Per Copy
Black & White	\$0.01
Color	\$0.05

*If your pricing structure is different than above, describe below, and attach pricing sheet as it relates to this solicitation.

**REVISED 05/07/2025

ANY ALTERATION OR DUPLICATION OF THE BID SHEET SHALL BE CAUSE FOR DISQUALIFICATION OF BID SUBMISSION. ANY QUESTIONS REGARDING THE BID SHEET SHALL BE DIRECTED TO THE PURCHASING DEPARTMENT.

**WBE